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Note :– This paper is of Thirty Five (35) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

uksV :µ ;g iz'u&i= iSarhl (35) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nine and Half (9½) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, lk<s+ ukS (9½) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Draw the circuit diagram of RC phase shift oscillator

and explain its working in detail.

vkjlh Qst+ f'k¶V nksfy= dk ifjiFk vkjs[k cukb, vkSj bldh

dk;Ziz.kkyh dks foLrkj ls le>kb,A

2. State maximum power transfer theorem. Prove that

the maximum power will be transferred to load when

the load resistance is equal to source resistance.

vf/kdre 'kfDr LFkkukarj.k izes; crkb,A fl¼ dhft, fd vf/kre

'kfDr Hkkj esa rc LFkkukarfjr dh tk,xh tc Hkkj izfr lzksr izfrjks/k

ds cjkcj gksA
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3. Describe the common-base transistor configuration.

Plot and describe the input characteristics, output

characteristics and current gain characteristics

mentioning the various input and output terminal

voltages and currents.

lkekU;&vk/kkj VªkaftLVj foU;kl dk o.kZu dhft,A fofHkUu fuos'k

vkSj fuxZr V£euy oksYVst vkSj /kkjkvksa dk mYys[k djrs gq,

fuos'k fo'ks"krkvksa] fuxZr fo'ks"krkvksa vkSj /kkjk ykHk fo'ks"krkvksa

dk IykWV vkSj o.kZu dhft,A

4. What do you mean by binary code in digital electronic ?

Explain the different types of binary codes in detail.

fMftVy bysDVªkWfud esa f}vk/kkjh dksM ls vkidk D;k rkRi;Z gS

\ fofHkUu izdkj ds f}vk/kkjh dksM dks foLrkj ls le>kb,A

5. What do you understand by multistage transistor

amplifiers ? Discuss different methods of coupling

amplifiers and their relative merits and demerits.

Show that overall voltage gain in multistage

amplifiers is equal to the product of the gains of

individual stages.

cgqpj.k VªkaftLVj izo/kZd ls vki D;k le>rs gSa \ ;qXeu izo/
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kZdksa dh fofHkUu fof/k;ksa vkSj muds lkis{k xq.kksa vkSj voxq.kksa ij

ppkZ dhft,A fn[kkb, fd cgqpj.k izo/kZdksa esa lexz oksYVst ykHk

O;fDrxr pj.kksa ds ykHk ds mRikn ds cjkcj gSA

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, pkj (04) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. A p-n photodiode is fabricated from a semiconductor

with band gap of 2.8 eV. Can it detect a wavelength

of 6000 nm ?

,d ih&,u QksVksMk;ksM 2.8 eV ds ÅtkZ varjky okys vèkZpkyd

ls fu£er gksrk gSA D;k ;g 6000 nm dh rjax nS/;Z dk irk yxk

ldrk gS \
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2. What are current gains  and  Derive the relation

between  and .

/kkjk ykHk  vkSj  D;k gSa \  vkSj  ds chp laca/k izkIr

dhft,A

3. What are the main constructional differences between

a MOSFET and a BJT ? What effect do they have on

the current conduction mechanism of a MOSFET ?

MOSFET vkSj BJT ds chp eq[; lajpukRed varj D;k

gSa \ MOSFET ds /kkjk lapkyu ra= ij mudk D;k izHkko iM+rk

gS \

4. What do you understand by feedback in amplifier ?

Discuss different type of it. what are advantages of

negative feedback.

izo/kZd esa iqu£uos'k ls vki D;k le>rs gSa \ blds fofHkUu

izdkjksa ij ppkZ dhft,A udkjkRed iqu£uos'k D;k Qk;ns gSa \

5. What is Boolean algebra ? Explain laws of Boolean

algebra with suitable examples ?

cwfy;u chtxf.kr D;k gS \ mi;qDr mnkgj.kksa ds lkFk cwfy;u

chtxf.kr ds fu;eksa dh O;k[;k dhft,A
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6. Convert (1001)BCD to Excess-3.

(1001)BCD dks Excess-3 esa cnfy,A

7. Subtract 10110 – 11010 by 2’s complement method.

2 dh iwjd fof/k ls 10110 – 11010 ?kVk,¡A

8. A feedback amplifier has a voltage gain of 500 without

feedback. If the feedback ratio is 0.1. Determine the

voltage gain if negative feedback is used.

,d iqu£uos'k izo/kZd esa iqu£uos'k ds fcuk 500 dk oksYVst ykHk

gksrk gSA ;fn iqu£uos'k vuqikr 0.1 gS rks udkjkRed dk iqu£uos'k

mi;ksx gksus ij oksYVst ykHk fu/kkZfjr dhft,A

**************


